HEEEE2 (IRH)

EEME 2-1 Z/11Z Oi% T =1+ 11Z (x € Z) THT.

(1) 2" (n=1,2,..,10) ZFtEH X

(2) 1T-2.--10 235 &

EEME 2-2 A=Clp| e ZDAT 7NV = "+ +22 +a+ 1) 2EZXS. FRER=A/ID

L% g(x) = g(z) + I (g(x) € A) TRT.

(1) 25 =1 ZmRE.

(2) 23 (28 +22) — (22 + 1)) ZAIHEE X,
(B) 2 +2%+ 1% 2t +23+ 22 + 2+ 1 THo LR KD K.

(4) 224+ 2+ 1D RICBIBHILERD K.

EEME 2-3 A=Clr,y] KBWTEZ 3.
(1) I=(z,y) 3BMKRAFT7LTH5ILrnt.

(2) J = (y — 22) BEA FTAED, A4 F7ATROE L ERE.

EEME 2-4
(1) R CIFRe LTRATRVWI L ZRE.

(2) Z/AZ & Z)2Z x Z/2Z \3FRE L TRAITR W & Z2RE.

ELRE 2-5 HERZ2 a0,bec CITHLT, B ¢ ZRTERT S
@ : Clt] » Cx C(f(t) = (f(a), £(b)))

FEATFTATI=(t—a)(t—b) ZEZS.

(1) o PERERAITH 5 Z L 2RE.

(2) C[t]/I = C x C Z7RE.

copyright ©) KFHFEDIFE/ — b



EEME 2-6 COTDHRA={a+0/T|a,bcZ} L ZDATTNITI=24+VT) BEZ 3.
(1) INZ = 3Z %RE.

(2) 1+1=V7+1%RE.

(3) Z/3Z ~ AJI %Rt

(4) T3MAA F7VTHD I L &Rt



